B> [ &

AI#mEE - MELT

202559814 H

(2#18)

%5 SCEFR

J’LJ’L’E BRI HmP

FEEBZTRNHRRERSE  EMUBREETAR  FRIGRE
—htkEiGR c —ZTZE5008 - SHEESERS [LAA]  A#EAR
ENRESR - JRESIZIL T EHEER - X tHEL

B2 4 P B2 B e B O AR

S HPE 1400 K F M« [RCN ST | o 2R SEVUPE 1400 K FHL ¢ [EEE BN ] LZRERES
A Q> b E g v A 1400 KT - 57 1650 KZREH 2 ik > 45 1 7 397 47 PR fE e kg
PR 34508 FERTRAMIESE o BT o (5 > TR R R > A b R = AR

WAL B Z 37 Bl > BLREIL & 33 0 18 R R 1400 K > OAFREE o [HEAJE ] DUBEEE
B (BSERE TR o [ZPRCHREL | WIRETLEE SR > HERMBE AT IR - [
SHmaR/NOES o [REE] Lé%ﬂﬁﬁﬂ%fﬁ EH ] IR IER o [ RKEH ] Pk REmERT

ERE > FRE LIS = 58

SR—HPHERES
BAHPE 1400 K EF M 0 THi— | BRIUIE 1400 K
HE > EBWFERIDDAE R 2% bE JE 5L i
S SRR R > FE DU R R A AR A B > il
EREE  WEERETF - AEABEEMY -

S BRI 1RAV U T T 2 -

BB e AR S
SEPUPE 1400 KM+ [ MLLAER ) AKHE S ASH

= DUAE R S MR A > BAEE H A SE N

WZEH > GBI > B R ETEA T -
[ ese | EBFEEM [ BT > B8

[T F%%%Elﬁ"iu ME—BURMER  BRIERERE o THEWGRAT ] BIENES >
o TAEAERRR ] AL RME @ PRI BRI o O] RS B0
SPRPL o [REMEWE | TSR o BRI o MR FIIRS -

) BB E S SBE ,.,ﬁ_ﬁ%m:kﬁ_,m

SEVUFE 1200 K ML 0 [RER] EFRGSHHE
UCHEHT > BAER iRy B SR TH{RE@LFJQ [ 5
BIHE ] AL MR —AEIRES  BRITHEE
B TR B R o[RBT ] W oo HNEE] LEMBREY > BERMES
Peb i S E IR e - MJEIER o [HHBE] =Rk W ARk 1A T PkEK o [SEEME] b2
TR > FATRREE o [BEY ] HaE HYE  BEmMN AL > ATINAE R -
AR HIESIEE U > FERE - ST | W ALESE B ERT

SSUUPE 1200 KM - [RRZIHEY | FF M
1200 KBTS » B N HOK T2 8 HE | B fg E K
m o ARG B BRI > BE R

KIS ) 5 msmmt

B =HE1000 Kk EHL - (BRG] L= E
PEEETE 1,965 > BRI AT > 1 H Ak 55 7 81
PR > B NRORE TSR 5E 1) i EIS > EF
IKHERG = B b S HER] R o [ SRR VB
J1FEFL > A7 B AL 0] 58 B LB K HE o R RAR
B EEPHERSE > BRI RRELT - mE
% o [GRZE] AEER 0B -

- TAY ) RIE SRR TR AR A B
HIFE 1200 KM ¢ [ ] E B
R B RO - R 2
WL DU B o B P
B - S TR TR R - (AR L)
HOESBIE T > B0 LA o B 13 R

G fly o [T | b ey i I
ARTHEASKRY; o [FAE] BIEEH sl -

) EmE ks

SB=BE1200 KJRHL ¢ [RHAR ] BRSO
RS a2 > SRR AT > ARG HEE
SN o [Tl | ARSI 5 KRR
Al Ve LSRR - EREHS AAEHE o [ g
] %?Jﬁﬂﬁﬁﬁﬁi% > AR R — B > (E
REML o [2EERR ) MRS > HPE LA
EU%%%@H@”’W DA 9 'EL o

KL ) REwmEn AT

S5 ZHE 1400 KM ¢ T ARER P | 2IS o I T
OG> FE=EGEERE > P 5 R 8 5%
g1 > o OB RES R o BB ¥ EY L

rFLFLﬁﬁ,% Faﬁi@ BZ

FEEET

ME -

B &% 8
@
I | 5
BEEH| 1 4
RAFH| 2

5 OB
A 11 BEZH| 6 i
AN 10 HRiE R
A ER-FE
ol 1 RE

—4

[IEEEL PSS N
PO
P > — R -
R T o

1 FRHE 3
5 BERE|9

6 A A &

o 9

IEZ &6
9 BEHHEM 8
EEMSR | 6
9 BHERE 1
k|1 R H |3
2 m®mAL|s
®|3 £BER| 7

I ER

[ ] BOdk T8y > 1 HBk
450 ) HRPIMEEIE - JretiES
[ EGR | B A B BUES - /)

B B &5 R R RERFRBIR

B —1ig SEPT 1400  EE440-0 i BMIAERI: 13:00 - ae SMPE 1200 FP460-40 M BHMIAER: 15:35 = BT
5% 5 B4 8-10H 11-12H BB 2 | BRRERE BB & 8-10H 11-12H BB 2 | FERERFE
1 q:‘ﬁ'r;ei Bi(MEBE—E) £ 265 26.5 4 |&EREEE| 1.21.43 1|8 % & B 33.7 33.7 By 55.9 30.025.9 8 |5 B | 1.09.19
2 EEEE Bh 54.4 LL4FE  30.523.9 B (B4R ) 3|k = 1E| 1.21.65 2 |ERIER | B 52.6 @R 29.323.3 (Eit) (R EE—E) 11| =& RIR| 1.09.24
3| F=E E [#&4k] B (M ElRE—E) [#&1K] Bh 57.7 TE# R4 32.3254|10 | % # 3| 1.21.67 3 | —HEE (M ERE—E) B) 56.3 31.424.9 4 |BARHE| 1.09.51
4 .%ﬂﬁ'r%}i [#&1k] B 25.0 25.0 [fe1k] Bh (HEITBE) 9 | EERE| 1.21.98 4 | ERE [#4k] Bh(REE—E) [#4k] Bh 54.8 BEEB& 2952534 AR 1 |/B %4 T | 1.09.76
51 F ® Bh (M ERE—E) 5|k &\ 1.22.11 5 | AiBEBE Bh(M BB ) PE48.9 26.122.8 (EMH) 18 |# 51 B8 1.09.77
6 | BHbEXR B(REEERE) B 53.0 29.623.4 7 |BMN{ES| 1.22.15 6 mEEE B (P EE—E) E1.01.6 32.429.2 14 E & & 1.09.85
7 | BNEFH By 54.0 29.2 24.8 B 54.0 28.4 25.6 2 BB F| 1.22.38 7 BHKE B 57.6 30.8 26.8 B 57.0 29.9 27.1 12| BRER | 1.09.98
8 |HIRMMN ££1.00.0 32.627.4 B(NEE—E) 13 | Z4L]EEEN | 1.22.62 8 |5 H B(REBIEE—E) 2 | BERBR| 1.10.12
9 |EERE Bh (HEITE8) Bh(XEE—E) 1 | FHEMRE| 1.22.63 9 B Y &E BIRIEEGTE) B(REEEWE) 10 | BB K AW 1.10.23
10 | £ M 2K Bh 1.002 32.827.4 8/ 59.0 32.226.8 1| A {BIK| 1.22.63 10 | F K Al [#4L] Bh 245 24.5 (Eith) Bh27.7 27.7 5 |Z1ERRE | 1.10.51
11 | MRIMNK B(WEE—HE) BE26.3 26.3 6 |[BEXR| 1.22.71 11 | =B R B(REE—R) 4 56.4 EE%EE 29.826.6 6 |mEEE 1.10.61
12| KBEH [#e40] B (W ERE—E) [#4k] B1 26.0 26.0 B 8 |BIRMMN| 1.22.72 12 | BRER [#&4k] B (N B BE— ) B 52.7 27.6 25.1 9 |#8 % #| 1.10.67
13 | Z4EE RGRIEE T E)) BN (Bl EE R ) 14|% & FE| 1.22.83 13 |51 /1 B8 B (M Bl —E) ¥ 55.2 31.7235 3 |—itERE -
1485 5 & B (M BB — ) B 57.3 30.027.3 & 12 ZEBE&E| 1.23.37 142 £ & il 46.8 24.2 22.6 (ER) & B (P9 BBl B ) 7 8 8 B -
ol B SRBE 14003K  $F4¥40-0 B BAMIARRI: 13:30 e D SSHE 1000k :P4r80-60 iy BAMIASRI: 16:05
BB B4 8-10H 11-12H B B 2 | AERERRH B B # 8-10H 11-12H B 5 Z | EERERE
18 — % 51.8 28.523.3 B 59.7 30.029.7 6 | SlhEsEiE| 1.21.61 1 | ERZE | & 532 BRI 29.7 23.5 (i) B(MEE—E) 11| BRBZ # | 0.55.81
2 | KBAEH Bh 52.7 28.7 24.0 Bh 55.5 29.7 25.8 3 EEEME| 1.21.71 2 |EEBEMRE Bh 58.3 32.326.0 Bh (M Bl — ) 1 | BRZH| 05584
3 ﬁﬁ&iﬂj HlRIEERIE)) ;1*;53.829.34.5 5 | EAERE| 1.21.79 3 | MK [#4k] B 54.4 28.4 26.0 Bh(WEE—E) 2 | ZBERE| 0.55.84
4 | RITRR I(ETER) 51PN B 5 7 ) TS B 5 4 | SRt B (MBI ) Bf 56.329.7 26.6 6 |ESME | 05584
5  EERE %5 54.430.1 24.3 B(REE—R) 7 |BAEE 1.21.82 e
6 GliEEE B(&RE) 539 277262 8 %l & & 12203 5 |Eg/\3t Bh 56.7 31.125.6 Bh 56.8 29.8 27.0 7 B M Bi| 0.56.08
7 A SIE Sh(NE T E) B 55.9 2.7 26.2 B RAEE| 12214 6 ﬁ%ﬁ@%ﬁ Bh(MEEE—E) M 25.8 25.8 9 :i%;_pf%ﬁé 0.56.25
8 | %l & B Bh(NEE—E) B 562 29.6 26.6 12 (B8 £ &£ | 1.22.23 7 | & B [#¢4k] Bh 52.8 27.8 25.0 (B1L) [#R4] Bh(H ElE—E) 5 | iEx/\3}| 0.57.22
9 |BE Mg 1B (N EEE—E) By 245 245 2 | KSaE| 1.22.40 8 |EBEL BN EEERE) PE53.2 28.9 24.3 (EfH) 4 | $5ERT | 057.29
10|35k B B 58.4 32.026.4 By 28.0 28.0 14 5T B B%| 1.22.42 9 | BHEE 244 244 81 30.1 30.1 3 | PR L =
1| ZERR B) 57.3 31.925.4 B(HNERE—E) 9 |fE Mg mE| 1.2255 10 | B ELE B (79 B 2 7 1) #24.4 24.4 8 EREL =
12 |B§ o5& &£ H 50.3 RIRH#E 26.623.7 & Bh (P9 BB B v ) 11| ZERBE| 1.22.70 1| BEZ 3 50.2 (1EBKE) 28.321.0 (Eih Bi(XEE—E 10 =] _
13| R EE B(WEE—E) 48 56.9 32.924.0 10 | Bk £ 1.23.73 B i ( ) ) ( ) L
14]3T @ & (6] B (PO R — e [#efL] Bh 572 304268 | 4 |\ RRY| 1.25.41 S VA R smIBE 1200k RE4Y60-40 Eith  BBESR: 16:35
—r = g R _ s 8- 4y B3| 5 B4 8-10H 11-12H B 5 Z | BERERHE
— FHEPE 1200k F5360-40 iRl FHEME: 14:00 . e 1 [ &% 55| Bh 484 E8ERAF 25.223.2 (ER) B) 56.4 30.2 26.2 3| & E| 1.09.00
B s & 8-10H 11-12H BB & | AREELH 2 |GEAR| [He] Bh 46.7 24.622.1 (EF) [{4L] Bh (Pl —FEl) 6 | F&HZE| 1.00.18
1 | KZIfHED Bh(PI B I ) % 53.3 29.723.6 4 |FH & BE| 1.08.74 3 5 & & Bh(RNEE—E) 9 |% #| 1.09.22
2 | K B B Bi(MEEE—E) B 521283238 5 | REI¥FR| 1.09.04 4 | #h ﬁf Bk %f 53.6 28.924.7 B(REE—E) 12 % g Eﬁ( 1.09.30
EEE £253 2538 B)1.00.4 33.027.4 & 6|A B #|1.00.17 5 | EERE Hi54.8 28.826.0 B (P 2 — ) 1 o Bk 1.09.36
— = _ T 6 |FHZE [@L] BN EE—E) Fl 53.8 28.2 25.6 10 | PR & & | 1.09.40
4 |\ HfEE B1 57.5 31.526.0 8/ 59.2 31.827.4 3|8 ER 3| 1.09.19 T AR i (P B2 — ) 2954 254 TR B B 10948
5 | REISFK % 53.8 29.4244 B (M B BE— ) 7 | KRFIGFE| 1.09.25 8 | AREE fe54.1 314227 B)28.3 28.3 14 BE B+ 1.09.54
6 A A & B (M B ) B (M B ) 10 BFEERE| 1.10.49 °o% & B) 59.9 33.826.1 B(NEE—E) 7 | #AEF| 1.09.90
7 | KFGFE B(ANEE—E) B 557 31.024.7 & 8 |BsAEBE| 1.12.38 10 | RiE T (M EE—E) ¥ 274 274 8 |EBMEZ| 1.10.02
8 |BEAR By 53.9 28.825.1 By 571 30.127.0 1| g2 ER _ 11 ﬁﬁﬂﬂﬁiﬁ‘g Bh(NEEE—E) %56.1‘30.625.5 13 EEZ% 1.10.47
=5 = — - 13| FHZE B/ 59.8 33.0 26.8 Bh (P9 FEl 3% —E]) 2 BEE®| -
10 HEXE B (W — ) AI57.3 309264 S BB 14 EREL B (HHTEE) FIGIEE i) HELE | I
EIZE P smss 1400k #P5r60-40 i BARaESRI: 14:30 E=PE 12005k EP4Y80-60 R BIMEERI: 17:10
B s & 8-10H 11-128 RHE| 5 # | FERERH BEE % 8-10H 11-128 B¥ 5 % | AEEHEM
18R [#&4k] B (P9 BB BE— ) [#4k] BY 54.8 BEB® 295253 A% 1 |4 A R | 1.21.35 1 | ELER B (1 1T5%) 2 | ®m&®ALE| 1.07.98
2 |EEE %R Bh (M B 3E—E]) B125.0 25.0 8 |[# ®E Bu| 1.21.60 2 |@EAL B(NEE—E) B 56.6 29.5 27.1 4 %ﬁg%ﬁ] 1.08.03
3 | REHR B(MEE—E) B1 55.7 31.024.7 3 |TBEEMA| 1.21.76 3 |FE AL (M EEE E) 4 54.4 29.125.3 6 & 51 8§ 1.08.11
4 | BEXT [#¢4¢] By 55.4 29.3 26.1 #£58.9 31.227.7 4 1 BEHFRT| 1.21.92 4 |HmAER Bh 57.4 31.825.6 B (9B E—B) 1|58 | 1.08.15
5 |k B | [#4k] Bh 4 1200k 20 8-31/4 BN (N EE—E) o [FEE4E| 12234 5 %ﬁgﬂ%ﬂg Bh 48.4 MedmER 25.2 23.2 () Bh 57.2 30.426.8 3 |ElZE{H%E| 1.08.15
6 | RREHF B 59.1 31.7274 7% 551 29.0 26.1 11| KAgBR# | 1.22.66 6 8 7 [HEAL] B0 (MBS E]) [4E4L] B0 23.3 23.3 8| & # %5 1.0823
2 o — ﬂ%]ﬁ i 7 |[BEEL| & 52.3 MAIMAE 296227 B (KEIE—E) 105 5% 4| 1.08.27
7 | REBBE#E [f£1k] By 24.5 245 B (K EE—E) 5| K R & 1.22.84 = = !
o o = o = 8 BB [#4L] B (M EEE—E) B 53.027.425.6 & 7 |[fBEEE5+| 1.08.36
8 |#¥ AE Al [HE4L] Bh (P LS — ) [#4L] B 57.9 309 27.0 O EERE| 12362 o8 & B # 538 29.524.3 &) 55.2 29.2 26.0 5 | EgERE| 1.08.38
9 |EREEE Bh (M EEE—E) §# 525 28.124.4 6 | RKXEH - 10| & & BE 53.9 29.4 245 B (&) 9| & Bi| 1.0852
108 & H B (P9 BB A ) B 49.1 26.222.9 (&) 7 | RIEHERE| - 1| &WnE B (P9 B3 — ) B 1.00.8 332276 TIEY k) -
11 | KA EE 85 (P9 LB — B BRI E)) 10)IF & & - 12 | RERE BN EE—E) B (P9 BBl B ) 12| RARE -
EETTDN smzr 14005k #4360-40 i BAMBRA: 15:00 PRSI s=HE 1400%  4Y80-60 Ei BAMIEER: 17:45
B 5 % 8-10H 11-12H 5% 5 & | ARREEE 53 B 7 8-10H 11-12H 5% 5 % | AERERS
1 1: | [l 23.2 BESER 23.2 (Eih) = Bh(PI Bl B 7 ) 4|5 7 EE| 1.21.37 1 | REME B(MEE—E) % 1.23.9 322282235 1 |[RREM#EN| 1.20.91
o BBk B (M EE—E) B 56.8 SE MR 30.0 26.8 9 Eiﬁigﬁﬂ% 1.21.43 2 gﬂgyﬁgg 55&0 31.027.0 EjJ[ﬂ.5]5.3 29.1 26.2 5 %‘?ﬁi 13];?
e = 3 |4 E 54.1 29.924.2 1 33.3 33.3 9 | BEEE| 1.21.
3 | REST 57.1 30.926.2 56.3 31.225.1 3 [ =3k | 1.21.
. g%’jg [1’31]%]&11@!%&5—) 5;518266252 > %g;g 121 2;13 4 |[ERBE| [#EL] B 54.0 27.7 26.3 (i) [#4k] Bh (A ElBE ) 4 | EEBE| 12122
e o = © 290 20 LR s 5 %  Z| [#f] Bh £ 1200k HR 3-8 [44k] B (P EELBE— B 3 | ER5#AEN 1.21.54
5 K & B(MEE—E) B 59.0 32.9 26.1 5|k & {Z] 1.21.85 6 | EBEER ) 2320 5% 232 (&) B (M EBEm B) 2B B | 1.2159
6 |LALER BN (HEATBE) B (P BB ) 1| 4E | 1.21.90 7 | iR (M EE—E) 1% 53.1 &Y 28.0 25.1 8 |[AAXRBE| 1.22.02
7 | TEERERE B1 56.6 31.1255 BN (M EIE—E) 6 | LB 1.21.90 8 %ﬁgﬁ;ﬁ AR IRIERTTE) %8 56.2 30.6 25.6 10 ﬁ@)ﬁ%ﬂi 1.22.20
8 [ & 28 & %271 271 1= = 1. 9 | BRI B 52.8 Bj¥E 28.024.8 By (KEEE—E) 6 | i i M | 1.22.39
;'" “E i — B(NEE—E) f : : ‘1* h SH (185 10 | FatE B4R B) 50.9 27.3 23.6 (Eith) B) 55.9 29.9 26.0 7 | oM EGR | 1.22.58
O \FEMLEAG|  [HEL) B 54.5 286259 B (P EIEE — ) 7 | R AR | 1.22.21 RIETZ3 (EAEIGEE D) (§EL] B 245 245 (G3h) | 11| BB S| 1.02.78
10| AR H B (P9 B ) B (P9 B ) 8 | % HE| 1.22.46 12| ZHzE B (R Bl — ) W555BEZH 299256 |13|— % & 1.24.62
11 |1£ 18 Eff | FA 49.4 ZEEE 26.4 23.0 (EfH) B (7 B B — ) 10 | & 2R & — 13| — ¥ & AH 53.3 28.0 25.3 B (P9 BBl B 7 ) 12 %&EMZI =
H N [ | H BE [ | [ I | [ |



